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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1. wgifafady sy Sqof gwAEge da9Tea

TeATRIfeTST o U9y DxA4=8

a) @ AMTEE 3 7 Bavd fenfe ?

b) EFHgEE SaqdnH fafereran |

c) ‘wiumy: - gorem wisd: 7w g
N EARDE NER Gk [ I

d)  ‘AgHcETEAl wEE AEURE i !
FAHSA AT T=ferar ?

¢) HIEEN A OiEeNesw AN v |
& 37af: ¢

f)  AIEfEarEn: %: Yawh ¢! QRHTERE giiurE-
oo & 7

g)  HYEfEAEn: % WSIER: ¢ O 9 Tm

foreramy |

[Turn Over/

h)

gifecredmen Wi & ? wifdcaedn wfd
glteser: afq ?

Answer any three of the following questions:

2%x3=6

@-@ie foaf e Ted wie ¢

a)
b)
c)
d)
e)

f)

SRR F 2
e erorfee gore & e

@ AR Qe a7 RFToIs o7 el
TR A0 W (@2 oidce e e
ST AN F 2 FY AT IO PE 2
SRR T (P @R e @A e
q9g AT T B (S e qie @ite
TR ?

Explain with reference to the context indicating

the names of the seer, metre and deity (any one):

7x1=7

4, 5 ¢ (e JAN OEd FE AT R 9
(@I GF) ¢

a)

b)
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et A e dagfeaer |
BAdR TAuREg 1|

¥ 1=zt § 9ewd © A TR e |
3T 9N T IS ST IR

(2)



4. Translate into Bengali (any one): 6x1=6
AT T (@I GF6) ¢
a) T T d UM FEEHEEASRAUE i -

TASHTTEE e fsras aee; uroft s ||

b)  TEE I TR TR g A |
T @ T T @ gEeEh o

5. Explain any one sloka in Sanskrit: Tx1=7

ST v U Tollh: ThaqToa
a) g yERe gen sffdseves v |
gogvd Jdfd g gedsiHal & 4@ )
b) T FATH: PG ST WY |
ecafar: Reray ey gmtea: |
6. a) ‘medl o @ w=& fasfd’—About whom

was it said? Describe his origin and

characteristic features in accordance with
“mafear’? 2+10
ame e O erife ¢ (aMy Sepiizel
Sl Do ¢ |

b) “‘amfa Sfulfy =en fagm...”—Who is the

speaker? About whom was it said? What
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the implication of the speech? 2+10

“grarty sty gen fem.. — e & 9
Ty G o 2R 2 SiEhd ol o
9 |

OR /<1441
“Roquseg w1 9. —Who said this and to
whom? What are the characteristics of ‘Teraus’?
“Reorquze = qmr... ) — @ FE 92 2T FarE
%o erwa @Fwel SETEal 59| 1+1+10
7. Translate into Bengali (any one): 6
AN 9 (@~ 9Fi0) ¢
a)  Fadl ey Fg gEre foautvEa: |

ghegafor yarefify gei=a o == |
OR /1911
¥+ f=fa warfn 39 <zfa ue: |
T = Tl T IeAfd A )
b) SRS IS (@R 37 79 a9 ¢ 6 /6o
24242=6
OR/~&Yq
7oIg @ el SERsitaa e A o w9
6
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c)
8. a)
b)
&1/Sans

G G Oles st w4 | 6

OR /=144t
B @14 ¢ FiEig
(P ST SRSl Thme ¢ (9
Dl 4 | 12
OR/HYq!
TR SFIHD FACFC 8 S SieeTva
4| 12

Define and illustrate any two of the
following figures of speech: 6+6=12

e @ 4o SerFEd e we e
39 ¢

a1, Tofsl, TrenE, TS

(5)



